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Problem 1: For each of the following, determine if the Divergence Test applies. If the Divergence Test
does not apply, explain why. If the Divergence Test does apply, use it to show that the series diverges.
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Then the divergence test does not apply.
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diverges by the Divergence Test.
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(iv)
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Therefore, the series
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diverges by the Divergence Test.
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diverges by the Divergence Test.
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diverges by the Divergence Test.
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(vii)
∞
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Therefore, the Divergence Test does not apply.

(viii)
∞
∑

n=0

(−1)n

lim
n→∞

(−1)n = DNE

Therefore, the series
∞
∑

n=0

(−1)n diverges by the Divergence Test.

(ix)
∞
∑

n=0

arctan(n)

lim
n→∞

arctan(n) =
π

2

Therefore, the series
∞
∑

n=0

arctan(n) diverges by the Divergence Test.
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